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00 B GNUPLOTOOOO

gbooooooooooboooboobooobooobooboooobooobooOooooooooDn
gooooo0ooooooOoooooo0ooooooOoooooooooGGNUPLOTOOODOO
0000Do0o0O0opoooOoOooDoDooOoOoooGNUPLOTOOOOODOD

e http://t16web.lanl.gov/Kawano/gnuplot/
e http://wwwi.edu.esys.tsukuba.ac.jp/manual/Chapl-linux/12-application /node2.html

gbooooboboooooboooobooooonoa

GNUPLOTODOUO

kteem OO0 O0O000O0gnuplotD 00 0O0O0OOGNUPLOTOOOODOOODODOOCOOODOOO
0000000000 GNUPLOTOOOOODO (gnuplot>) 00000

ant00% gnuplot
GNUPLOT
Unix version 3.5 (pre 3.6)
patchlevel beta 340 (4+1.1.4 1998/04/04)
last modified Tue Nov 25 22:57:44 GMT 1997

Copyright(C) 1986 - 1993, 1997
Thomas Williams, Colin Kelley and many others

Send comments and requests for help to info-gnuplot@dartmouth.edu

Send bugs, suggestions and mods to bug-gnuplot@dartmouth.edu

Terminal type set to 'x11’

gnuplot>0 « gnuplot OO0 O OO0
O kterm O O

gboogood

GNUPLOTOOOODOOOODO20000000000 plot0D0O0O0OO0O0300000O0DOC
OO00splot 0O00OOOOODOO

00000y =sinz0000000O0O0OGNUPLOTOOOOOOOOOOOOOOOOO
OplotDO0O0O [0:10000000 x20000000000O00ODOOO0OO<Kz<100000O0O
gboooooooooon

gnuplot>  plot [0:10] sin(x) ‘

gboboo7oobo0obOooooboon
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o7 o000b000o0go

gogbbobogoogobon

goboooboooooooooboooooboooboboobobooooooboobooooDooDbo
O0000oD0o0O00000oooo300b00000000jx.dat, jydat, jzdatD 000000
g000o0oo0oooooooooooogoooz0O0Mm0000000J,00000000O
gboooooobooooooo

1.700000  0.000000 0.000000
1.700000 0.002500 0.000000
1.700000 0.005000 0.000000
1.700000 0.007500 0.000000
1.700000 0.010000 0.000000

1.704000  0.000000 0.000000
1.704000 0.002500 0.000000
1.704000  0.005000 0.000000
1.704000 0.007500 0.000000
1.704000 0.010000 0.000000

gbooaboagooood

oo00o0O000000000 xdatOOOOOGNUPLOTOOOOODODOOOOOOOODODO
0001000000200 20000300000 J,000000038(0O0O0O000OO
gboooog

gnuplot> splot ’jx.dat’ with lines ‘

gogbobobooodn

ogbouoboooboobooboboooboooooboboOoobbooooboOooboOoOonbOdset
000000000000000000000000 8Mh) 00000000 OODOUDO
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gnuplot>  set xlabel 'x m]’0 0 100

gnuplot>  set ylabel 'z [m]'0 -0 200

gnuplot>  set zlabel "Jy [A/m2]'0 -0 300

gnuplot>  set title 'Distribution of y-component of electrical current density’d « 00 00O

gnuplot> splot ’jx.dat’ with lines

Distribution of y-component of electrical current density
‘jy.dat’

‘jy.dat

Jy [Am2]

1.5e-005 1.56-005

1e-005 16-005

56-006 56.006
0 0

-5e-006 -56-006

16-005 -1e-005

08 (a)000000000000DO0O0DO0OOO (hyOoooooooo

gbooosboooooobooobooboobbooooboooooooooboobooDn
gboboooboobooooobooooboboobooonog

gnuplot> splot ’jx.dat’ title ’Jy’ with lines

gogbgobooboooboobooboboabo

gnuplot> set nokey
gnuplot> splot ’jx.dat’ with lines

gogbooboogon

gboooobooooboooobooooobooboboobboboboobobooobobooooOobooo
gboooooobooobooobobooboobooooboboooooboooboboobooobog
goooQoooOoOoOoOOEPSODOOOOOOOOOOOOOOOOOO

gnuplot> set terminal postscript epsd] 000000000000
gnuplot> set output ’jy.eps’d 0000000000 OOOOOOO
gnuplot> splot ’jx.dat’ with lines

gboooboobooobooboooOooooboobooonjyepsOO0O0O00O0DOOO0ODOOO

gboboooog
gooooobooooboobboooboOooooooboooboooooooobDooDOoODbo

gbooooboobooboooooboooboooooboooobooooboooboobooog

gnuplot> set terminal X110 000000000000
gnuplot> splot ’jx.dat’ with lines
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GNUPLOT OO O

GNUPLOTOOUOODOOOUOODODOOOODDeitODOOOOODO

gnuplot>  exit
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